a:=2m b:=4m L:=6m

N
Ebois:=11 GPa Ebois=(11-10%) ——
mm
. . s N
Eacier:=210 GPa Eacier= <210 .10 > 5
mm
P1:=50000 N P2:=20000 N ft:=12 mm
POUR UNE FLECHE MAXI DE L/500
. 1 P1.L°+128.-P2.a%.b° .
Jbois = ——- + @ Jbois = (332.784-10°) mm*
384 ft«Ebois+L*
6 3 3
. 128 P2.a’+b .
Jacter = 1 . P1-L°+128 a Jaczer:<17.432-106> mm*
384 ft-Eacier-L*
3 . 3
bl:=180 mm hi:= \/ %lbms hl=280.99 mm
Largeur poutre bois Hauteur poutre bois
3 /12-Jbo1
blx:=100 mm,101 mm..200 mm hlac(bl:z:) = \/Tozs
X
hlac(bl:z:) (mm)
348
341
334
327
320
313
306
299
292
285
278
271
I(‘)l) 1 il) Ié(] I;‘il) 1 ‘Il) IT‘;() I(‘i(] I‘Tl) 1?‘%(' H‘l(] 2(‘)[] 2‘Il) >

bl (mm)



JacierIPE_200:=19.4-10° mm* Poids:=22.4 ¥, Poids=134.4 kg
m

1 P1-L%+128.-P2.a%.b°

ftIPE_200:=——- ftIPE_200=10.782 mm
384 JacierIPE 200 - Eacier-L*
JacierIPN_200:=21.4-10° mm* Poids:=26.2 L., Poids=157.2 kg
m
1 P1.1L°+128-P2-a*-b*
FtIPN_200 :=——. + @ FtIPN_200=9.775 mm
384 JacierIPN_200-FEacier-L*
JacierHEA_180:=25.1-10° mm* Poids:=35.5 L) Poids=213 kg
m
1 P1.L°+128-P2.a*-b*
FLHEA_180:=——. + a0 FtHEA_180=8.334 mm
384  JacierHEA_180-FEacier+L
JacierHEB_160:=24.9.10° mm* Poids:=42.6 L., Poids=255.6 kg
m
1 P1.L°4+128.-P2.a*-b*
FtHEB 160 :=——. + @ FtHEB_160=8.401 mm
384 JacierHEB_160.Eacier-L*
. BB-.-HH® .
BB:=180 mm HH:=300 mm  JBois:=—_——  JBois= (405-10°) mm*
. 1 P1-L°4+128.P2.a°-b* .
ftBois:= . + a ftBois=9.86 mm

384 JBois+Ebois- L*



el =dlLi

T

1% —r o T )

=

t=Tolalom
=itk




J

e
e _,__l

IUTRE._2:

£

v.j
[
+
i
=
o
=




